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Adam has started moving from point A, he passed the points B, C, D as shown in
the figure before he came back to point A. What is Adam’s total displacement?

A Adaaid) 1sdeme S O b JSAIL ziabge 9 S D,C, B lelaly Lgre A ddaidsdl e AS el @al fog
G AN paT d=151 Ls

B 5m C
3m Ax = x5 — x; 3m
i Ax =
A - Sm D

M

Sara starts at x; = 30 m and walks to the left to the point x; = 10 m. What is

Sara's displacement?
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Which statement about drawing vectors is true?
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Slouons Clgariall quny dilaiall Olhleall 61

The vector's length should be proportional to its magnitude
s sy el i Job el

You need a vector diagram to solve all physics problems properly
feon b bl Bluas g ) i ] i

Avector is a quantity that has a magnitude but no direction
EE RN AR $Y PECA

* All quantities in physics are vectors
Oliaria g bl cbidll § Sl oz

In the graph, a toy car rolls from position +3 m to +8 m. W Ax = 8 — 3

statements is true?
Ax = 4+3m
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Consider a moving object that changes position with time.

I a3l I

Which of the following quantities is a scalar quantity ? The final péositioh minus,; the initial pcjsitionéis the.im i
oLl RSY 8al| EERY Ll Aoyl o Aall dginll de )
Al ety (5m ) bk 0y 5,80 oty (81m ) Ak I ecgnto AN By
fCagaiall (uh £ sana Lo
8m )
n 5m In the figure there are two vectors. The first vector magnitude is ( 8 m ) directed
east, and the second vector magnitude is ( 5 m ) directed west.
What is the sum of the two vectors?
R=A-B

R=8-5=+4+3m
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